
2 'qn libxz - aygnd ircnl dwibel
:zeibelehe`h odn eli`e zewitq ze`ad ze`gqepdn eli` .1

¬(p → p) (`)
(p → (q → r)) (a)

¬(p ∨ q) ↔ (¬(¬p ∧ ¬q)) (b)
(¬p → ¬q) → ((¬p → q) → q) (c)

:jxtd e` gked .2

(P ∧Q) → R,D → P, D,¬R `CPL ¬Q (`)
(A ∧B) → C `CPL (A → C) ∨ (B → C) (a)

A → B, B → C `CPL ¬(¬C ∧A) (b)
A → B `CPL (C ∧A) → (C ∧B) (c)

.dwitq `id dibelehe`h lk (d)
.B zewitq zraep A → B-e A zewitqn (e)

.A1 ∧A2... ∧An `CPL B mn` A1, ..., An `CPL B (f)

:ze`ad zepekzd z` miiwn `ed m` driap qgi `ed ` qgi .3

{A} ` A :zeiaiqwltx (`)
T2 ` A f` T1 ⊆ T2 mbe T1 ` A m` :zeipehepen (a)

T ` B f` T ` A mbe T ∪ {A} ` B m` :zeiaihifpxh (b)

.driap qgi `ed `CPL qgidy gked

mitzeyn miineh` miweqt `ll ze`gqep A,B m` :jxtd e` gked .4
e` `CPL B :miiwzn mi`ad mixacd cg` zegtl f` ,`CPL A → B-e

.`CPL ¬A

.idylk dnyd v-e ze`gqep A,B, C eidi :dtlgdd htyn z` gked .5
.v(A{B/p}) = v(A{C/p}) f` v(B) = v(C) m`


